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(b) False
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If /<0 on I,

then f is cc dn on 1.
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max intervals of incr
for f, if f/(z) = 2?(xz —1)2/(x —2)3(z — 3)2.

f! 02 02 U3 U2
0 1 > 3
(a) [0, 00) NOTE:

f(2) and f(3)
DNE

(b)[1,00)
(€)[2,00)

(d) none of the above
0% 0% 0% 0%
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Correct: (2,3) and (3, o) |4 ==r==ruE=uus
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max interval of decr.
for f, if f'(z) = —(x — 1)2(z — 2)(x — 3)2.

f’ 92 0 92

O 1 2 3

(a)[2,00)
(b)[1,00)
(€)[0,00)

(d) none of the above
0% 0% 0% 0%
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f"(x) = —(z — 1)%z(z + 1)

max intvl cc up
f 0 0 0

(a) [~1,1] -1 0 !

(b) [0, 0)

(C) [_17 O]

(d) none of the above
0% 0% 0% 0%
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max intervals of cc dn \
for f, if f(z) = —e %(x — 1)?(x — 2)3(x — 3)2.

f 02 03 02

O 1 2 3

(2)[2, 00)
(b)[1,00)
(€)[0,00)

(d) none of the above
0% 0% 0% 0%
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